® x+1

@ x-1

X

@ x3—x




xt - 6x% + 85 dEalstH? (&, FEl

/\AQ/\A
=
[\
|
[\
=
|
2
—
=
+
[\
N—

=3
=

HolA =23l S5t

L (=) =0,
 (x=2)(x+2) 2 tHro] HolxmR
YA S AA Q5elsta et




g(lﬂ— Dk+2) 4+ (k+1)(k+2) 9 Z& 289

@® %(k+1)(k+3)(k+4) ) %k(k+1)(k+2)
© %(k+1)(k+2)(k+3) @ %k(k+1)(k+2)(k+3)
® }l(k+1)(2k+1)(3k+2)

B

(k+1)(k+2) = g(k+ (k+2)olB=2
1

31 A
=l

(k+1)(k+2) 2 FoH

Wl wl

(F )=

(k+1)(k+2)(k+3)




4.

M3 44 = (24 x4+ 2) (P +ax+b) D W, AF @b
T-shelet,

> E:

> e -2

B

94

If
o

(F W) = (2 +2)2-x2

= (P +x+2)(x*-x+2)
ca=-1,b=2
sab=-1x2=-2




x2_2x_y2+2y_§_ [ BN =]

T
S}

ol SAEY (v -+ ay) (v - by + ) 7 ekt
w0+ b+ e G Folofet,
=

>
> HE: -4

B

x2— 2x—y2 + 2y

=(** -y -2(x-y)
=(x+y-2)(x-y)
= (x+ay)(x— by +¢)
Al4E vl stH

a=-1,b=-1,c=-2
Lat+b+c=-1-1-2=-4




6.

B

100 7§ 2] THeHA] x2

—x=1,x2=x=2, -+, x¥2=x-100 Zof|A A57}
el QRO BOZ QARelEL e BE E A9l

@ 571 @ 70 (@)9711 @1/ © 1A

@ —xon= (et a)x—b) (@ b AA%) e o}
b=a+1,ab=n(1<n<100)

a 12345 6 7 89

b 2345 6 7 8 910

n=ab | 2 612 20 30 42 56 72 90




=(A+3)(A-2)
(x2—x—|—3) (x2—x—2)
(F2-x+3)(x-2)(x+1)




8.  2x%+xy-3y*+5x+5y+2E ol oFH (x+ay+b)(2x+cy+d)
olty. ol W, a + b + ¢ +d 2 #= Totefzh

cCh "
H -

>
[> o= 5

oH =

B ~

2x2 4+ xy — 3y? + 5x + 5y + 2
=2x2+ (y+5)x—3y2 + 5y + 2
=2x2+ (y+5)x-(y-2)3y+1)
= {x—(y-2)}{2x + (3y + 1)}
=(x-y+2)(2x+3y+1)
ca=-1,b=2,c=3,d=1




9. 1999719 t}a}Al 42 —2x— 1, x2 = 2x =2, ---, x2 — 2x — 1999 o] A
A7k 449 Qa4 0] Fo 2 Q4Re] H AL BE B A

@sH @wuil G5H @A 6 A

B ~

x2=2x-n = (x+a)(x=b) (a, b = AA5) 25 (1 < n < 1999
Al A4

ab=n, a=>b-2

n=1-3,2-4,3-5 ---, 43-45(=1935) ] 437}




10. x* +3x2 +4 & HI2A| AFEoTE A2?

O (FP+x+1)(x*>-2x+1) @ (X +2x+2)(x* —x+2)
@(xg—x+2)(x2+x+2) @ (P+x-1)(x*-2x+1)

® (P+x-2)(x>+x+2)

P +3x%+4 = (x + 42 +4) -7
=(x2+2)2-x2
=2+ x+2)(x*-x+2)




